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Self-checking grid
• Work out the answer to each of these calculations using your preferred method.

         68  x  17           65  x  19           5021  –  2458

         4068  +  2516           3269  +  2109           4431  –  734

         964  x  5           3852  +  4890           10 638  –  2704

• Now write the digits of each answer in
the checking grid opposite, using the
method shown below.

• Question 1 has been done for you!

    Th-digit
        1   1    5   6

H-digit

T-digit

U-digit

1 2 3

7 98 1

4 5 6

1     1

6     5

1    1

6    5

1 2 3

4 5 6

7 8 9


